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TBET (KF)3—K TERET(KF)E HEH 0(F) 1 2 3
10 HAT 134 1 2 1 2
20 FELET 149 1 2 3 1
30 JEHT 241 2 3 3 3
40 SRET 114 0 0 1 1
50 KET—T B 306 2 3 2 2
60 KET=TH 221 2 5 5 4
70 AET=TH 282 3 4 6 2
80 ¥ATIHET 32 0 0 0 0
90 FEHATIRAT 192 2 3 1 3

100 dt D HLET 112 1 0 1 3
110 T HT 1099 24 23 20 18
120 #;TAHT 209 10 5 3 8
130 ¥ FHT 339 4 2 4 5
140 EAERT 24 0 0 0 0
150 & FFrHET 317 9 6 6 8
9999 K FRXET 3771 61 58 56 60
510 RETIHT B 398 3 2 1 7
520 HEEEHT 123 0 4 2 0
530 /\T&HET 227 3 2 3 1
540 15 =EHT 393 4 3 3 3
550 $TithET 349 3 4 4 3
560 =ZEMT 100 2 1 0 1
570 EEHT 58 2 1 1 2
580 ¥TEAHET 140 2 3 1 1
590 ¥ ;EHT 78 0 0 0 0
600 ZERET 528 4 10 1 13
610 FHT 197 1 3 1 2
620 FEBET—T B 2 0 0 0 0
630 FAEBTZTH 2 0 0 0 0
9999 /\ & X5t 2595 24 33 17 33
1010 A HT 165 2 1 2 2
1020 £ A HT 269 8 6 3 10
1030 b [ HT 271 5 4 7 7
1040 75 FHT 432 10 10 16 11
1050 £ HHET 553 11 9 10 12
1060 F_EHT 464 13 7022 12
1070 Fy[RHET 609 11 13 8 9
1080 &= HHET 347 7 11 6 8
1090 BH&EHT 541 7 14 11 11
1100 L HEHT 487 13 17 9 9
1110 fRIEET 161 2 4 7 3
1120 {BI1E JTHT 83 0 1 1 0
1130 +5:HT 28 0 0 3 1
1140 FkJRHET 13 0 0 0 1
1150 F/RET—T B 184 3 2 4 5
1160 FEERT=TB 224 0 3 5 0
1170 ;B /KHET 170 0 1 2 1
1180 BB&ALHET 216 2 3 5 2
1190 #&FAHT 167 3 3 7 3
1200 XFHET—TH 127 2 0 2 0
1210 XFHEIZTH 177 2 4 1 4
1220 #HrHT 143 2 1 1 0
1230 #XET 158 3 1 2 1
1240 ZEHT 138 0 2 1 3
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TBET (KF)3—K TERET(KF)E HEH 0(F) 1 2 3 4 5 6 7 8 9
1250 fEEEIET 151 1 3 2 3 2 2 1 2 2 3
1260 B R &E 47 0 2 1 1 0 1 0 0 0 0
1270 EEHT 157 4 5 2 1 2 2 0 0 0 1
1280 R4 HT 146 0 0 1 1 0 2 4 2 1 3
1290 $RHET 184 2 0 4 6 1 4 2 4 1 1
1300 4 ZEMT 141 2 1 1 2 2 2 2 2 2 2
1310 RJLHET 78 0 2 1 1 2 0 1 0 1 0
9999 KHEMZX 5T 7031 115 130 147 130 155 140 141 131 133 125
1510 AEHD_E BT 649 11 5 11 17 15 12 11 12 21 14
1520 HEHI T BT 616 10 7 9 9 10 7 9 13 9 9
1530 HE#FTHT 314 5 4 7 7 8 5 7 5 5 6
1540 K4EFHT 524 6 9 7 7 6 9 8 10 9 4
9999 HEMIE X &t 2103 32 25 34 40 39 33 35 40 44 33
2010 £ &5 190 3 5 3 8 3 3 5 5 5 3
2020 %= EFaHET 290 3 4 1 9 11 7 8 7 8 8
2030 SE0HT 19 0 0 0 0 0 0 1 0 0 0
2040 :ET—TH 187 0 3 0 0 1 0 5 5 4 5
2050 MBET=TBHB 192 2 1 2 1 2 4 3 1 3 3
2060 ¥g f¥fT 35 0 0 0 1 0 0 0 1 0 0
2070 FxEBT—TH 219 8 4 7 7 7 4 8 1 5 2
2080 +RETZTH 187 1 0 2 4 2 4 3 5 1 3
2090 THiRAT 1622 19 13 21 15 27 25 21 27 35 31
2100 hiLHT 215 4 8 11 5 6 5 11 3 5 6
2110 KEMIETET—T B 198 1 4 5 5 2 10 3 3 3 3
2120 WEHIEBRT=TH 227 3 8 4 3 6 7 7 9 7 5
9999 ZERXET 3581 44 50 66 58 67 69 75 67 76 69
2510 ¥AZHET 1840 25 30 39 47 30 51 57 45 55 60
2520 sk EEHT 1130 29 30 44 37 40 36 36 36 26 30
2530 & /NRHET 323 12 1 10 6 5 8 5 4 8 3
2540 FiGHT 442 5 6 6 3 10 5 5 5 6 4
2550 ;HHET 212 2 2 2 1 3 4 7 6 4 2
2560 = ST 851 12 16 15 12 15 19 11 19 18 17
2570 K EHT 88 1 1 1 1 1 0 2 2 2 0
9999 MER X ET 4886 86 86 117 107 104 123 123 117 119 116
3010 K#THT 912 10 25 14 23 13 16 10 18 16 27
3020 BT HT 851 15 13 13 23 24 15 15 12 18 13
3030 _EEFHT 687 6 13 20 17 18 12 14 15 14 17
3040 & _LET 136 2 1 0 1 2 1 1 2 1 1
3050 wyERdr AT 1877 40 71 61 49 56 46 47 48 40 49
3060 HEA THT 433 2 3 5 4 4 5 6 7 6 5
3070 HBREHT 416 4 5 5 3 9 5 8 7 10 8
3080 HH AT 380 6 9 11 18 11 18 17 13 19 14
3090 HHRERHAT 376 17 9 8 10 15 7 12 14 16 11
3100 H R FgHT 500 11 12 12 13 12 10 10 6 10 3
3110 HepJLHET 417 5 7 7 10 6 8 6 5 3 7
9999 /\ FERX &t 6985 118 168 156 171 170 143 146 147 153 155
3510 &7 _EHT 170 3 0 1 4 1 1 1 4 2 1
3520 &R oRHT 341 4 6 4 8 6 6 5 5 3 4
3530 E[RTHT 897 16 19 14 30 19 28 23 22 13 25
3540 Z= B KHET 333 5 4 1 3 3 4 4 6 6 9
3550 AEFHT 727 8 15 11 10 7 18 12 13 16 11
3560 &= T ERAT 268 3 2 1 1 1 3 5 7 3 6
3570 = T AT 780 15 11 20 14 13 11 11 9 9 4

3580 T LLIFTHT 531 4 14 9 9 9 7 5 11 8 7
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TBET (KF)3—K TERET(KF)E HEH 0(F) 1 2 3 4 5 6 7
3590 JEMT 16 0 0 0 1 0 0 0 0
9999 S HKXEt 4063 58 1 1 0 59 78 66 77
4010 21| RET 310 0 0 2 3 2 2 4 5
4020 {E&HT 67 0 1 2 0 2 0 0 1
4030 5HT 195 4 2 3 1 4 3 1 5
4040 = HEAHT 179 4 0 4 1 3 7 1 5
4050 7K EHT 382 4 1 6 5 5 8 10 4
4060 E5Z4 HAT 323 6 0 8 5 10 5 5 6
4070 JtJRHET 144 2 5 2 4 1 2 2 4
4080 =;T;HAMT 166 3 1 2 5 5 4 6 3
4090 FREKHT 266 4 5 3 8 1 2 7 4
4100 g FFOAT 102 0 5 2 3 2 1 1 1
4110 4t FF0HT 114 1 2 3 2 4 3 4 4
9999 2RI Xt 2248 28 2 7 7 39 37 4 42
4510 EREE—ZEHT 685 7 6 4 7 3 9 10 9
4520 EREE — FMET 151 0 0 2 1 3 3 4 1
4530 EREE =Z5HT 153 2 0 5 5 5 6 4 4
4540 EREEIUZEHET 145 1 3 2 2 0 2 1 1
4550 EREE R ZHT 104 2 0 2 2 1 1 2 1
4560 EREE/NEHET 68 1 3 1 1 4 0 2 3
4570 EREEHZHET 121 0 0 0 1 0 2 1 2
4580 EREE/\ZFHT 73 0 1 0 3 3 2 1 2
4590 EREE N ZEHT 127 0 2 2 3 1 2 2 3
4600 AR+ ZHT 193 3 1 0 3 1 2 3 1
4610 EREE+—ZHHT 183 2 3 1 2 2 3 0 2
4620 AR+ —FFHT 301 8 6 7 4 4 0 3 3
9999 AREFERXET 2304 26 5 6 4 27 32 33 32
5010 BBF0 H EET 173 4 3 3 4 2 5 1 5
5020 H2F0BA & ET 170 1 2 0 2 0 3 4 3
5030 RRF0[RI{—HT 180 2 1 2 3 2 2 3 4
9999 RRFIMXET 523 7 6 5 9 4 10 8 12
5510 &b R HT 208 0 2 3 0 3 2 1 1
5520 = HhHET 543 9 9 9 9 19 11 6 12
5530 #4'= HT 463 9 6 4 8 10 5 6 8
5540 wy ZERT 222 2 2 4 5 3 4 3 2
5550 AT 69 1 0 1 0 1 0 0 1
9999 ER X5t 1505 21 9 1 2 36 22 16 24
6010 [E]ET/NER 85 2 0 1 2 1 1 3 0
6020 [EHET o 88 1 2 0 0 1 2 0 1
6030 FEIRT &I 83 1 0 0 2 0 1 3 0
6040 Bz FFHT 180 2 1 2 3 2 7 4 3
6050 JI|EHETER 131 0 0 1 1 1 0 2 0
6060 JI|EHATF 96 1 1 1 3 3 1 2 1
9999 FEERXET 663 7 4 5 1 8 12 14 5
6510 HZEAFBHET 20 1 0 1 0 1 1 0 0
6520 H &= A KIEHET 165 1 3 1 1 1 2 1 3
6530 HZEAFTHET 99 1 1 0 0 1 1 0 2
6540 HEAILLTHT 157 0 0 0 0 2 0 1 2
6550 HZEA M 2 NHET 85 0 0 0 0 1 1 0 1
6560 A Z At dLHT 130 1 2 1 0 0 2 0 0
6570 H R AIEFHT 145 0 0 0 1 1 0 0 0
6580 HZAEHRT 94 1 3 1 0 0 0 0 0
6590 HZ= AHET 55 0 1 0 1 0 1 0 1
6600 HZ= A dHT 88 0 1 1 1 0 0 0 0
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TBET (KF)3—K TERET(KF)E HEH 0(F) 1 2 3 4 5 6 7 8 9
6610 HEA L FGHT 49 0 1 0 1 0 1 0 1 1 1
6620 HZEAF T 52 0 0 0 1 0 2 0 0 1 0
6630 HZEA T FMAT 105 1 0 1 1 1 0 1 1 0 0
6640 HE A EitslT 38 0 0 0 0 1 0 0 1 0 0
6650 B ZASHET 2 0 0 0 0 0 0 0 0 0 0
6660 HZ A RiHT 50 0 0 0 0 0 0 0 0 0 0
9999 HEAKRXE 1334 6 12 6 7 9 11 3 12 16 12
7010 Z— &M O HT 144 0 2 0 1 0 1 2 0 1 1
7020 — RLAHT 277 4 0 2 4 3 2 3 7 1 2
7030 = R IRHNET 99 2 1 0 0 0 1 1 1 2 1
7040 — R T KEFHT 194 0 2 1 0 0 1 0 0 2 0
7050 — R 7 H I ET 92 0 1 1 0 0 1 1 1 1 0
9999 — R&XEt 806 6 6 4 5 3 6 7 9 7 4
8011 SRAETFGHERLY 62 1 0 1 0 0 0 0 0 0 0
8012 IR AHTFHERA 115 1 1 0 0 1 0 0 0 1 0
8013 Y AHTFEER (& 69 1 0 0 0 1 0 2 0 2 2
8021 IRAHTIZEKLY 79 1 0 0 1 0 0 1 1 0 1
8022 YAHTIEKA 6 0 0 0 0 0 0 0 0 0 0
8023 IR AHTIEKIL 8 0 0 0 0 0 0 0 0 0 0
8031 IRAHTH ALY 154 1 2 1 1 1 1 2 1 0 3
8032 IRAHTHAA 9 0 0 0 0 0 0 1 0 0 0
8033 FAETH AL 18 0 0 0 0 0 0 0 1 0 0
8041 IR AHTELIRL 66 0 0 0 0 0 0 1 0 1 0
8042 R AHETELIFA 30 1 0 1 0 0 0 0 0 0 0
8043 IR AHTELIR L 19 0 1 0 0 0 0 0 0 0 0
8044 YR AHETHELIFIZ 26 0 0 0 0 0 0 0 0 0 0
8045 IR AHTELIR (X 48 0 0 0 0 0 0 0 0 0 0
8050 IR AMTIR A 172 2 1 0 0 0 1 0 1 3 1
8060 IR AHTFT 128 1 1 1 1 1 1 1 1 0 0
8070 AHTER 149 0 0 1 1 0 0 0 1 1 0
8080 Ik AHT &k 51 0 0 0 0 0 1 1 0 0 1
8090 I AHTH;EE 46 0 0 0 0 0 1 0 0 0 2
8100 JRABIH/{% 23 0 0 0 0 0 0 0 1 0 0
8110 JRAHTJII 50 0 1 2 0 0 0 0 1 0 0
8120 IR AHBTEEME 75 0 0 0 0 0 0 0 0 0 1
8130 JRAHETH Lt 74 0 0 1 1 0 2 0 1 2 0
8140 IRABTEFRKT 112 1 0 0 0 0 0 0 1 1 2
8150 IR AHTEFRK L 86 0 0 0 1 0 1 1 0 0 0
9999 IRARK X ET 1675 10 7 8 6 4 8 10 10 11 13
9010 +THTKEH 534 14 7 11 8 15 7 5 10 5 1
9020 FTHTH IR 299 10 4 10 4 6 6 4 4 5 5
9030 FTHTHEH 875 22 29 24 28 30 38 30 28 32 31
9040 F THTHERRH 1068 12 14 26 21 19 31 23 26 27 35
9999 FTH X5t 2776 58 54 71 61 70 82 62 68 69 82
9110 ERT T HIE 469 11 7 10 9 7 10 9 10 17 5
9120 $RATH L 240 1 2 3 0 3 1 5 1 3 0
9130 RETH B 104 2 2 1 2 1 5 4 1 0 1
9140 SFEET T4 335 6 4 3 9 3 3 12 8 12 8
9150 $BHT L 45 441 7 14 4 5 13 7 10 11 10 12
9160 HRHETIRHFT 646 9 10 13 15 13 18 27 19 22 12
9170 $ERTAH 803 14 1 17 14 15 21 16 16 17 20
9180 FRMETER 525 5 3 12 5 8 9 9 9 9 12
9190 #EHRTZ O 177 2 3 2 3 3 2 6 5 6 4
9200 5 HT FF U 159 1 1 1 5 4 3 0 3 4 0
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TBET (KF)3—K TERET(KF)E HEH 0(F) 1 2 3 4 5 6 7 8 9
9210 $RAT = H 300 5 2 6 6 6 1 10 3 7 5
9220 $EHT#E H 491 8 8 13 6 15 13 11 12 14 8
9230 SEET B M 564 7 1" 12 10 6 12 12 13 11 13
9240 $EHETIEE 218 4 4 5 4 5 2 7 3 3 4
9250 SEHETALFrith 465 7 7 6 9 7 6 9 12 11 11
9999 FEXET 5937 89 89 108 102 109 113 147 126 146 115
9310 E[FHET:AR 181 2 0 2 2 1 3 0 1 2 0
9320 E[ZHETAL 184 1 3 0 1 2 3 1 3 1 2
9330 RFZHET/INE 122 2 1 0 1 1 1 1 0 3 1
9340 R [ZHTRY 333 3 4 9 4 5 7 5 6 7 7
9999 HFHXET 820 8 8 11 8 9 14 7 10 13 10
9410 RET T & 315 4 2 4 5 5 5 3 8 5 5
9420 RHETHHE 217 0 1 0 1 0 0 2 1 0 1
9430 RETFER 138 0 1 1 0 0 0 0 0 0 0
9440 RETAEF 15 0 0 0 0 0 0 0 0 0 0
9450 RETHER 21 0 1 1 0 0 1 0 0 0 0
9460 RET{_HE 29 0 0 0 0 0 0 0 0 1 0
9470 RETER 8 0 0 0 0 0 0 0 0 0 0
9480 RETHEAR 53 0 0 0 1 0 0 1 1 1 0
9999 RixXEt 796 4 5 6 7 5 6 6 10 7 6

99999 &t 56402 808 888 962 988 1013 1027 1051 1051 1098 1048



10 HAT

20 & d-HT

30 @7

40 LRHET

50 KET—T B
60 AXET_TH
70 KET=TH
80 AT IR AT
90 FEHATIRAT
100 dt D HLET
110 #A;IHT

120 ¥A;TAHT
130 ¥ FHT
140 HEAE BT
150 & FFrHET
9999 K FRXET
510 RETIHT B
520 4EEEMT
530 /\T&HET
540 15 ZMET
550 $TithET
560 = ZEHT
570 EEHT
580 ¥TEAHET
590 ¥ ;EHT
600 ZERET
610 FHT

620 $TERT—T H
630 FAEBTZTH

9999 /\ & X5t
1010 A HT
1020 £ A HT
1030 b [ HT
1040 74 FHT
1050 K HEHHET
1060 F_EHT
1070 1R HET
1080 & HHET
1090 HEHRT
1100 L Bi&EHT
1110 fRIEET
1120 {BI1E JTHT
1130 +5&HT
1140 FxJRHET

1150 F[RET—T B
1160 #EETZ=TH

1170 ;B /KHET
1180 EE&ALHT
1190 ¥ F A HET

1200 XFHEI—TH
1210 XFHEIZTH

1220 $RHT
1230 #FHET
1240 ZEHT
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THET (KF)a—F {THRHET (KF) 4 10 11 12 13 14 15 16 17 18 19
1250 fEEHET 2 1 0 4 1 0 1 1 2 0
1260 B @ 0 0 0 0 0 0 0 0 0 0
1270 EEHT 0 3 1 2 0 0 1 0 1 3
1280 R4 HT 1 2 4 2 2 2 3 2 3 3
1290 $RHET 2 3 0 2 0 1 2 3 4 0
1300 & ZEHT 1 1 2 2 2 1 1 2 2 2
1310 RJLHET 1 1 0 2 0 0 1 1 1 2
9999 XH M X ET 138 138 124 137 122 138 130 129 127 123
1510 AEHD_E BT 20 17 19 19 19 12 24 9 12 13
1520 }EHI T ET 12 14 18 11 12 11 13 13 16 14
1530 HE#FTHT 4 9 4 2 6 6 2 5 6 3
1540 K$2=FHT 14 6 6 7 4 11 4 12 12 10
9999 HEMIE X &t 50 46 47 39 41 40 43 39 46 40
2010 £ &5 10 5 5 3 5 2 2 3 0 2
2020 %= EFaHET 5 5 2 4 5 7 8 3 4 4
2030 AT 1 0 0 0 1 1 0 0 0 0
2040 :ET—TH 2 4 4 4 5 4 3 3 5 3
2050 IBETZTH 3 4 0 3 2 5 6 2 7 4
2060 g5 {iHET 1 1 3 3 1 0 1 2 0 1
2070 FREBT—TH 2 5 2 4 4 4 5 5 6 2
2080 +RETZTH 3 0 3 1 5 4 5 2 6 3
2090 Hyig AT 34 32 46 30 34 36 33 38 46 18
2100 dr 4L AT 4 5 4 7 0 6 5 8 4 4
2110 KEMIETET—T B 1 2 2 4 6 4 9 4 9 1
2120 HEHIFRETZ=T H 8 8 2 7 6 3 2 4 7 8
9999 ZERXET 74 7 73 70 74 76 79 74 94 50
2510 #AURET 59 72 67 55 65 73 46 54 45 30
2520 sk EEmT 43 34 29 26 35 25 42 41 35 40
2530 =/MEHET 4 6 7 8 5 11 6 6 4 8
2540 FHi5HT 5 5 3 6 5 10 6 7 6 6
2550 ;HHET 4 3 0 4 4 2 5 7 1 5
2560 = ST 16 20 11 17 18 12 18 19 20 12
2570 K EHT 2 2 4 3 0 1 0 2 1 2
9999 MER X ET 133 142 121 119 132 134 123 136 112 103
3010 X#FHT 17 17 17 23 19 20 21 17 20 17
3020 ;ELiTHT 19 13 18 21 14 27 19 23 19 20
3030 _EEFHT 10 20 21 16 15 16 19 21 22 19
3040 & _LET 0 2 2 2 1 1 3 3 1 3
3050 wyERdr AT 45 46 46 37 44 46 50 36 50 38
3060 HESTHT 4 13 3 10 6 4 7 10 11 9
3070 HBREHT 3 7 7 8 7 7 7 7 4 8
3080 HH AT 13 6 10 9 8 10 8 6 8 12
3090 HHRERHAT 14 11 10 11 8 8 11 9 10 9
3100 HHFHHET 8 10 10 5 7 6 10 5 14 15
3110 HepJLHET 6 6 10 6 6 5 8 6 8 7
9999 /\FE&XET 139 151 154 148 135 150 163 143 167 157
3510 &7 _EHT 2 0 1 0 2 5 1 1 3 4
3520 2[R AT 4 4 5 3 7 8 5 6 6 4
3530 2R THT 7 21 21 15 12 22 21 19 21 10
3540 Z= B KHET 6 5 8 4 6 10 4 9 12 12
3550 AEFHT 12 14 14 1 12 9 13 13 18 8
3560 &= T ERAT 4 3 6 5 6 3 5 4 4 5
3570 = T AT 12 14 10 6 6 12 14 10 15 15
3580 I |LIFHTHET 7 7 6 9 3 4 11 11 11 8
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FIRET (KF)a—K {TERHET (KF) 4 10
3590 EMT
9999 EHKXET
4010 )1 RHET
4020 &S HT
4030 15T
4040 S HEAHT
4050 7K ST
4060 5% AT 1
4070 JtJRHET
4080 =;T;HAMT
4090 FREkET
4100 g FFOAT
4110 JtFFET
9999 &M XET
4510 AREE—ZEHT
4520 EREE — FEET
4530 EREE =Z5HT
4540 AR EErYZHET
4550 EREE R ZHT
4560 EREE/NEHET
4570 EREEHZHET
4580 EREE/\ZFHT
4590 EREE N ZEHT
4600 AR+ ZHT
4610 EREE+—ZHHT
4620 AR+ —FHET
9999 AREFERXET 3
5010 BBF0 H EET
5020 RRF0BAELET
5030 RBEFNE{—HET
9999 RRFIMXET
5510 b R HET
5520 = HhHET 1
5530 75 = HT
5540 wy ZERT
5550 EFEHT
9999 iR X &t 2
6010 FEIAT/MEE
6020 [ZHT
6030 FEIRT &I
6040 iz FHT
6050 JI| AETE
6060 JI| BT 7Y
9999 FEERXET 1
6510 HZEAFBHET
6520 H &= A KIEHET
6530 HZEAFTHET
6540 HZE AL THT
6550 B =AM 2 NET
6560 HZE AtEILHET
6570 H R AIEFHT
6580 HZAEHRT
6590 HZ= AHET
6600 B Z A HHT
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550 $TithET 13 13 9 14 13 8 9 12 6 7
560 = M7 1 0 2 2 4 3 2 2 1 1
570 EEHT 2 2 0 5 2 3 3 2 2 1
580 ¥TEAHET 4 4 4 2 3 3 2 7 9 5
590 ¥ ;EHT 1 2 0 3 0 1 1 3 4 2
600 ZEi7HT 24 15 26 19 32 26 28 28 23 21
610 FHT 14 4 4 1 5 4 8 1 11 6
620 $TERT—T H 0 0 0 0 0 0 0 0 0 0
630 ¥TERT T H 0 0 0 0 0 0 0 0 0 0
9999 /\ & X5t 94 67 68 92 90 81 89 86 93 79
1010 E HHT 4 6 4 3 10 5 3 2 11 7
1020 £ K HT 6 12 5 9 9 14 13 8 11 9
1030 b [ HT 3 11 9 7 10 7 9 8 8 9
1040 75 FHT 23 8 18 15 17 12 11 16 18 10
1050 £ HHET 15 14 16 19 22 13 14 20 10 19
1060 F_EHT 20 14 15 18 11 17 6 9 13 18
1070 Fy[RHET 12 18 17 9 16 18 12 14 16 16
1080 &= HHET 4 8 11 10 11 9 13 10 10 3
1090 BH&EHT 25 12 14 15 19 18 25 31 30 25
1100 L BEHT 18 18 10 16 14 18 21 13 20 17
1110 fRIEET 3 7 3 3 5 8 3 1 2 3
1120 {BI1E JTHT 4 4 3 4 0 4 1 3 1 4
1130 +5:HT 0 2 1 1 0 2 0 1 0 1
1140 FRJRHET 0 1 0 0 0 0 1 2 0 0
1150 F/RET—T B 4 3 6 4 7 6 4 6 3 11
1160 F/RET—T B 8 5 7 8 6 6 5 8 7 9
1170 ;5 7KHET 4 4 3 3 1 5 2 2 4 7
1180 BB&ALHET 8 7 7 4 4 6 5 5 6 15
1190 #&FAHT 3 3 5 5 5 2 6 10 4 6
1200 XFHET—TH 3 2 4 3 2 3 2 6 8 2
1210 XFHEIZTH 2 6 4 8 5 3 5 5 6 11
1220 #rHET 1 1 1 6 5 1 9 3 4 1
1230 #XET 12 5 5 7 2 3 6 3 2 10
1240 B EHT 2 5 1 5 3 1 1 1 4 4
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THET (KF)a—F {THRHET (KF) 4 60 61 62 63 64 65 66 67 68 69
1250 fEEIRT 2 4 3 3 5 1 3 3 2 4
1260 B @ 4 1 2 3 2 4 1 1 0 1
1270 EEHT 3 2 1 6 2 5 2 5 0 4
1280 FRAEHT 2 3 1 4 8 3 3 8 9 4
1290 $HHAT 4 4 9 4 5 5 3 7 3 2
1300 & ZEHT 6 2 0 4 4 1 3 1 4 5
1310 RILGHT 5 3 2 2 5 3 0 2 3 0
9999 K HEMRXET 210 195 187 208 215 203 192 214 219 237
1510 AEHD_E BT 18 22 24 18 18 22 22 16 22 33
1520 }EHI T ET 22 14 21 17 21 24 23 22 27 33
1530 AEHIFTHET 11 10 18 9 12 12 8 12 8 9
1540 K$2=FHT 12 18 20 16 18 27 17 21 20 18
9999 HEMIE X &t 63 64 83 60 69 85 70 71 77 93
2010 £ &5 5 1 2 8 3 3 4 5 3 7
2020 % EFGHT 6 8 7 4 7 8 4 12 7 5
2030 AT 0 2 4 2 2 0 0 0 1 1
2040 :ET—TH 5 6 6 3 5 4 1 3 12 6
2050 MBET=TBHB 2 5 4 7 4 4 7 6 4 13
2060 g5 {iHET 1 1 3 1 2 3 3 0 2 1
2070 FREBT—TH 9 10 5 7 8 7 3 10 10 8
2080 FRET=TH 2 2 7 7 9 7 3 7 6 7
2090 Hyig AT 36 45 55 55 65 53 62 68 58 64
2100 dr 4L AT 7 7 5 7 11 7 10 5 4 7
2110 KEMIETET—T B 7 7 3 4 8 7 11 11 9 6
2120 WENVEHBT=TB 8 14 9 5 14 13 7 8 8 12
9999 ZERXET 88 108 110 110 138 116 115 135 124 137
2510 #AURET 68 60 47 46 50 51 53 54 48 71
2520 sk EEmT 44 39 40 48 32 40 32 35 39 44
2530 =/MEHET 12 7 7 8 12 15 13 18 8 9
2540 Fi5HET 9 15 15 13 11 10 20 21 19 11
2550 ;HHET 7 7 5 8 12 6 6 9 11 4
2560 &= EHT 27 27 21 33 35 28 27 31 26 38
2570 K EHT 3 5 3 2 2 2 4 3 4 4
9999 MER X ET 170 160 138 158 154 152 155 171 155 181
3010 X#FHT 28 26 15 21 29 28 22 45 27 28
3020 ;ELiTHT 30 19 23 27 20 19 32 32 28 27
3030 L E7HT 18 15 26 19 25 22 20 24 18 19
3040 & _LET 5 4 4 3 7 5 7 6 3 3
3050 wyERdr AT 51 52 47 69 56 58 49 56 43 68
3060 B THT 20 15 15 8 18 12 12 16 8 27
3070 HBREHT 20 13 13 16 18 12 14 17 20 23
3080 HH AT 9 8 6 8 7 12 5 5 7 21
3090 H A EHET 11 3 9 7 9 3 6 12 13 9
3100 H A FHHET 11 10 12 18 15 14 20 14 10 13
3110 HepJLHET 15 21 9 14 12 1 13 16 17 14
9999 /\FE&XET 218 186 179 210 216 196 200 243 194 252
3510 £/F LHT 9 4 2 4 7 3 10 5 11 7
3520 2[R AT 11 10 11 10 11 10 7 1 9 14
3530 2R THT 27 25 32 32 30 28 29 45 36 32
3540 Z= B KHET 9 7 13 9 10 10 13 15 12 19
3550 AEFHT 27 26 19 27 32 25 32 25 24 25
3560 &= T ERAT 5 8 9 15 14 14 15 11 11 10
3570 = T AT 18 25 23 24 18 32 24 31 32 31

3580 T LLIFTHT 15 1 22 15 15 23 13 15 18 19



3590 EMT

9999 EHKXET
4010 )1 RHET
4020 &S HT

4030 15T

4040 S HEAHT
4050 7K ST

4060 EZZ HHET
4070 /R HET

4080 =;T;SMT
4090 FREkET

4100 g FFOAT
4110 JtFFET
9999 &M XET
4510 AREE—ZEHT
4520 EREE — FMT
4530 EREE =Z5HT
4540 AR EErYZHET
4550 EREE R ZHT
4560 EREE/NEHET
4570 EREEHZHET
4580 EREE/\ZFHT
4590 EREE N ZEHT
4600 AR+ ZHT
4610 EREE+—ZHHT
4620 AR+ —FHET
9999 AREFERXET
5010 BBF0 H EET
5020 RRF0BAELET
5030 RBEFNE{—HET
9999 RRFIMXET
5510 b R HET

5520 = HhHET

5530 75 = HT

5540 wy ZERT

5550 EFEHT

9999 iR X &t
6010 FEIAT/MEE
6020 [ZHT

6030 FEIRT &I
6040 iz FHT
6050 JI| AETE
6060 JI| BT 7Y
9999 FEERXET
6510 HZEAFBHET
6520 H &= A KIEHET
6530 HZEAFTHET
6540 HZE AL THT

6550 B =AM 2 NET

6560 HZE AtEILHET
6570 H R AIEFHT
6580 HZAEHRT
6590 HZ= AHET
6600 HZAHET
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FIRET (KF)a—K {TERHET (KF) 4 60 6 62 6
6610 HEA L FGHT
6620 HZEAF T
6630 HZE AT FHET
6640 HZEA EitHr
6650 B ZASHET
6660 HZ A RLHET
9999 HEAKKET 2
7010 Z R MO ET
7020 — R AHT
7030 = R FR#AMET
7040 — BT KEFHT
7050 — R 7 H I ET
9999 — R&XEt 3
8011 SRAETFGHERLY
8012 FRABTFHERA
8013 Y AHTFEER (&
8021 IRAHTIZEKLY
8022 R AHETIEKA
8023 IR AHTIEKIL
8031 RAHETH ALY
8032 IRAHTHAA
8033 FAETH AL
8041 R AETHELIFZL
8042 R AHTELIRA
8043 R AETHELIFIE
8044 YR AHETHELIFIZ
8045 R ABTELIF T
8050 IRAMTIR A
8060 IR AHTFT
8070 AHTER
8080 Ik AHT &k
8090 I AHTH;EE
8100 JRABIH/{%
8110 YRAHTJI| 5k
8120 R ARHETERER
8130 JRAHTH L
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8140 IRABTEFRKT 1 5

8150 AR EHFXRL 3 3 6 6 10

9999 IRARK X ET 58 Al 61 50 68 75 54 84 78 100
9010 +THTKEH 17 27 22 15 20 17 17 19 25 27
9020 FTHTH IR 8 12 9 5 12 13 15 17 13 18
9030 FTHT#HZEH 32 30 36 37 31 36 38 29 32 40
9040 F THTHERRH 45 41 42 32 41 40 33 46 39 31
9999 FTH X5t 102 110 109 80 104 106 103 111 109 116
9110 SERT T H L 8 8 14 14 19 13 10 20 22 21
9120 $RATH L 6 8 0 9 11 11 9 7 9 13
9130 RETH B 2 10 4 4 7 8 1 3 5 5
9140 SFEET T4 13 16 18 14 20 9 12 20 19 16
9150 $EMET L £& 19 8 9 16 17 10 20 15 18 14
9160 SRHETER4T 18 16 15 21 17 23 14 23 32 16
9170 $ERTAH 37 26 20 29 22 23 18 26 30 29
9180 FRMETER 20 24 17 22 23 19 17 30 16 18
9190 #EHRTZ O 4 7 7 9 12 9 5 10 9 8

9200 FEHTEFIE 10 7 9 10 3 8 2 8 7 14
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THET (KF)a—F {THRHET (KF) 4 60 61 62 63 64 65 66 67 68 69
9210 $RAT = H 11 5 19 6 17 12 14 15 12 12
9220 $EHT#E H 11 12 17 18 17 18 13 17 19 17
9230 $EHTE M 22 22 20 19 21 22 32 31 16 26
9240 $EHETIEE 10 9 11 6 6 13 13 6 5 10
9250 SEHETALFrith 16 21 13 21 14 20 24 20 11 14
9999 FEXET 207 199 193 218 226 218 204 251 230 233
9310 E[FHET:AR 6 6 9 6 9 7 11 6 7 6
9320 E[ZHETAL 4 14 6 11 11 6 7 11 5 16
9330 RFZHET/INE 7 7 5 7 11 9 3 11 10 5
9340 R [ZHTRY 11 9 12 17 18 20 17 8 15 23
9999 HFHXET 28 36 32 41 49 42 38 36 37 50
9410 RETT & 11 16 17 11 10 13 10 17 11 16
9420 RETHHE 4 8 8 6 8 10 16 14 10 9
9430 RETFER 5 7 5 7 5 5 7 2 8
9440 RETAEF 0 0 2 1 0 1 0 0 0 0
9450 SRETHER 1 1 1 1 1 0 1 3 0 0
9460 RET{_HE 1 1 1 3 1 2 2 1 1 0
9470 RETER 0 0 0 0 1 2 0 1 0 0
9480 RETHEAR 2 1 0 1 0 3 2 2 2 2
9999 RixXEt 24 27 36 28 28 36 36 45 26 35

99999 H&EEt 1742 1709 1722 1817 1945 1938 1883 2149 1972 2190
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TIRET (KF)a—K {TEHT (KF) 4
10 HAT
20 & d-HT
30 @7
40 LRHET
50 KET—T B
60 AXET_TH
70 KET=TH
80 AT IR AT
90 FEHATIRAT
100 dt D HLET
110 #A;IHT
120 ¥A;TAHT
130 ¥ FHT
140 HEi[EET
150 & FFrHET
9999 K FRXET
510 RETIHT B
520 4EEEMT
530 /\T&HET
540 15 2HT
550 $TithET
560 = ZEHT
570 EEHT
580 ¥TEAHET
590 ¥ ;EHT
600 ZERET
610 FHT
620 $TERT—T H
630 FAEBTZTH
9999 /\ & X5t
1010 A HT
1020 £ A HT
1030 b [ HT
1040 74 FHT
1050 K HEHHET
1060 F_EHT
1070 1R HET
1080 & HHET
1090 HEHRT
1100 L Bi&EHT
1110 fRIEET
1120 {BI1E JTHT
1130 +5&HT
1140 FxJRHET
1150 #J=ET—TH
1160 F/RET—T B
1170 ;5 7KHET
1180 BB&ALHET
1190 #&F AHT
1200 XFHEI—TH
1210 XFHEIZTH
1220 #rHET
1230 #XET
1240 ZEHT
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THET (KF)a—F {THRHET (KF) 4 70 71 72 73 74 75 76 77 78 79
1250 fEEIRT 3 5 4 3 3 0 4 3 4 5
1260 B @ 2 2 0 1 3 2 2 1 3 0
1270 EEHT 6 3 4 2 5 2 0 2 2 1
1280 R4 HT 3 5 4 3 1 4 4 3 4 6
1290 $RHET 6 6 10 3 2 8 4 5 5 5
1300 4 ZEMT 3 10 3 5 2 4 4 2 5 4
1310 RJLHET 3 3 3 2 2 3 3 1 1 0
9999 K HEMRXET 267 223 228 159 128 202 181 164 169 161
1510 AEHD_E BT 19 27 20 16 8 23 25 22 23 14
1520 }EHI T ET 27 32 23 17 24 19 25 21 17 16
1530 AEHIFTHET 11 11 17 9 8 15 9 4 15 9
1540 K$2=FHT 20 18 23 9 13 14 11 11 16 7
9999 HEMIE X &t 77 88 83 51 53 71 70 58 71 46
2010 £ &5 9 10 7 4 3 3 8 4 2 3
2020 %= EFaHET 2 5 7 4 2 7 4 4 7 3
2030 AT 4 3 2 0 0 0 1 1 0 1
2040 :ET—TH 8 1 10 4 7 4 2 7 4 2
2050 IBETZTH 6 8 7 7 8 7 5 6 2 4
2060 g5 {iHET 2 5 2 2 1 0 3 0 2 2
2070 FREBT—TH 8 7 6 11 0 7 7 11 7 5
2080 +RETZTH 6 9 4 10 7 4 6 4 4 6
2090 Hyig AT 71 70 72 36 34 51 64 38 35 44
2100 dr 4L AT 11 6 9 2 3 2 3 4 7 2
2110 KEMIETET—T B 7 11 10 5 7 5 7 7 5 8
2120 WENVEHBT=TB 8 7 13 9 7 4 9 10 2 5
9999 ZERXET 142 152 149 94 79 94 119 96 77 85
2510 #AURET 63 80 61 39 36 56 42 54 45 36
2520 sk EEmT 44 43 31 22 19 18 21 18 15 11
2530 =/MEHET 16 10 10 5 4 5 4 7 10 9
2540 Fi5HET 25 17 24 18 15 13 17 12 19 13
2550 ;HHET 7 7 8 6 7 7 8 3 7 4
2560 = ST 49 30 44 25 17 21 23 25 28 22
2570 K EHT 4 1 2 5 2 2 2 2 3 3
9999 MER X ET 208 198 180 120 100 122 117 121 127 98
3010 X#FHT 37 38 33 29 22 30 16 28 32 22
3020 ;ELiTHT 41 31 41 21 12 25 11 16 22 12
3030 _EEFHT 25 22 26 9 18 16 15 17 19 8
3040 & _LET 5 3 4 4 2 7 6 5 6 0
3050 wyERdr AT 75 7 61 30 31 38 43 37 44 41
3060 B THT 14 15 20 9 12 18 21 18 15 17
3070 HBREHT 13 15 8 1 12 16 11 11 12 17
3080 HHHHET 14 14 11 6 4 7 7 10 10 6
3090 HHRERHAT 15 4 10 4 7 8 11 12 4 9
3100 HHFHHET 11 1 7 8 11 7 6 6 8 5
3110 HepJLHET 23 22 21 2 11 13 10 20 10 10
9999 /\FE&XET 273 246 242 133 142 185 157 180 182 147
3510 &7 _EHT 7 9 5 5 2 5 4 3 7 4
3520 2[R AT 20 22 13 9 10 13 10 14 7 2
3530 2R THT 37 29 21 17 21 21 21 15 23 13
3540 Z= B KHET 20 15 13 15 7 4 12 13 14 12
3550 AEFHT 32 33 30 16 17 22 23 15 16 20
3560 &= T ERAT 14 11 12 7 8 1 9 7 10 7
3570 = T AT 42 37 29 22 23 20 23 23 22 17

3580 F|LIFrHT 24 26 21 1 9 15 13 11 10 13



3590 EMT

9999 EHKXET
4010 )1 RHET
4020 &S HT

4030 15T

4040 S HEAHT
4050 7K ST

4060 EZZ HHET
4070 /R HET

4080 =;T;SMT
4090 FREkET

4100 g FFOAT
4110 JtFFET
9999 &M XET
4510 AREE—ZEHT
4520 EREE — FMT
4530 EREE =Z5HT
4540 AR EErYZHET
4550 EREE R ZHT
4560 EREE/NEHET
4570 EREEHZHET
4580 EREE/\ZFHT
4590 EREE N ZEHT
4600 AR+ ZHT
4610 EREE+—ZHHT
4620 AR+ —FHET
9999 AREFERXET
5010 BBF0 H EET
5020 RRF0BAELET
5030 RBEFNE{—HET
9999 RRFIMXET
5510 b R HET

5520 = HhHET

5530 75 = HT

5540 wy ZERT

5550 EFEHT

9999 iR X &t
6010 FEIAT/MEE
6020 [ZHT

6030 FEIRT &I
6040 iz FHT
6050 JI| AETE
6060 JI| BT 7Y
9999 FEERXET
6510 HZEAFBHET
6520 H &= A KIEHET
6530 HZEAFTHET
6540 HZE AL THT

6550 B =AM 2 NET

6560 HZE AtEILHET
6570 H R AIEFHT
6580 HZAEHRT
6590 HZ= AHET
6600 HZAHET

70
1
197
24
4

9

6
11
12

5
13
4
5
99
27

(2]

~
OO OO OCIT IO BANWOOWOW—= WO o

S —_ - \. —_ - N —_
A g = DNOOONMNJOOOOOO NG

—_

—_
WO NOO—=- O whHMO

71
1
183
17
4
13
7
19
8
10

—_ N —_—

- = A JOTO1 = 0O -0 h~hOJWOWOW—-=00—-=NIJOOWWOWJOOUUaMNDMNOGO —=— 0 O

-y

72
3
147
15
3
10
10
15
18
9

9
12
6

9
116
29

—_

—_
— = A NO—= WO o

—_- =
o~ ODNO

] _ ) = =
GO W W~ =N ©

—_
Ol WO NO1I O ON—- OO0 NNDNdDW

73
0
102
13

I

- O

— N OO OO A JOOWOOOHOOONMNDIIPRWUIUAIWO DR OMNMWPEPAPOWRER - =NO—-==DNWOANODNDNOWODIWOOLOLI~LD

XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

AT (KF)a—F 1TERET (KF) &

74

0
97
11

N

— O

A NN AdAW—LOPLPAPPOWANOOO -, WNNOITOOWPRAR - OPLANO—=WN——WNDNWODMNMMNMNMNMNONWOO =W

75

101

—y
N O

N Ol

($)]
— WNOSOWPAOPANOW—LPPW—— O OONNMNOGITWNODNDN

[4;] —_ —_
WONNDNJdOaO BN

WA WWWWLWOPROIT—=DNMNWO~-—=

76

—_
—_
o o1 O

—_
— OO U1 WNOWWNJO N

N O
w o1 O

A A =2 0WOMNN—=O®

S _ — —_ 3]
WO WU —=NWO N

NNNJOO—-=-DNNJOMNWJOONOO

77

101

~

N O

GO WP OBRAN—-—"O01 - WWOUIWNDIMO 00O OWOOWNOP,W—=—=O0OMNMNMNM—OOOOARAI—=—=WLWWOWONKLWOOLO KWW

78

110
12

—_ —_ = = = [3;]
PO = Jd P00 abbNDDNANDNNDOON

(&)
~ oo

A2 OO0 P~ ONOSOOOGOCPRMON

— ~l
S W oo O ©

N O
AN =2 WO == O WUMNDMNMNLE,—=OGO = WO Gl h © OO O

S
>

OMNOOWOPAANNdN—= DD MNMNLWIWLO =00 —=0JdJWOIND



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

8012 FRABTFHERA
8013 Y AHTFEER (&
8021 IRAHTIZEKLY
8022 R AHETIEKA
8023 IR AHTIEKIL
8031 RAHETH ALY
8032 IRAHTHAA
8033 FAETH AL
8041 R AETHELIFZL
8042 R AHTELIRA
8043 R AETHELIFIE
8044 YR AHETHELIFIZ
8045 R ABTELIF T
8050 IRAMTIR A
8060 IR AHTFT
8070 AHTER
8080 Ik AHT &k
8090 I AHTH;EE
8100 JRABIH/{%
8110 YRAHTJI| 5k
8120 R ARHETERER
8130 JRAHTH L

8140 IRABTEFRKT
8150 IR AHTEFRK L

9999 IRARK X ET
9010 F THTRKEH
9020 FTHTEER
9030 FTHT#HZEH
9040 F THTHERRH
9999 FT#XEt
9110 $EET T HIE
9120 $RATH L
9130 RETH B
9140 SFEET T4
9150 SEMET L 55
9160 HRHETIRHFT
9170 SZETAH
9180 $RHTEE

9190 SEET:Z O
9200 HTEFiH

— 00 O = WO UUON—-O0OPPOCAANNOGOO PNOPN

(=]

11
87
20
19
32
49

120

18
11

20
26
30
24
26

DO W W OO PR OW—-N—-"-=WO—-=00000W~AJoODN

W =N
Wo h~hO1IOOSD

118
21
11

19
16
33
39
25
13
11

— OGN WN == O WOONDMNMNMNMDMNOIUOMNOWOONOGTWNWPAIOJIODNMNOOWHA~—

H N = =
H W OoToOo ww

101
17

19
18
28
34
12

7

5

NNOWO—-=MNMNOONDNDMN—LTOWN—-W_LONMOOOOGNMNDNMNO O

— A
AN O

_ e N = - —_ O N =
© 00O NGO O © JO

5
3

NNW—- OO - NOW—- 000 - O0O0O0OWNOWNOOPMPUUINWNNNINNMNODNO P~ —= D

N — — - W
o O = AN =

66
20

12
19
19
16
2
5

NNOMNO—-OMNWPAPROWOMNMNW—LONOOPRPRWOUNMNMOOUIONOGOWWO—=ONDMNMNDNOG

AN =N -
D W h = © =

104
19

17
12
26
27
17

5

6

NBEBAPNN-—-WW—-= 000 NO - ONOOWO—-ONW—-ONONMNDNOOLOWW—-OWWN-—-O

— Ol
~N D

_ N = = —_ —_ N W N
O N OOJOOWO o ©N W

4
4

FIRET (KF)a—K {TERHET (KF) 4 70 71 72 73 7 7 7 7 7
6610 HEA L FGHT 3 3 1 2
6620 HZEAF T 3 2 3
6630 HZE AT FHET 4 2 2
6640 HE A EitslT 1 0 3
6650 HZASET 0 0 0
6660 HZ A RiHT 2 1 1
9999 HEAKKET 68 58 6 48 4 5 5 5 6
7010 Z B MO ET 13 14 1
7020 — RLAHT 11 12 1
7030 = R IRHNET 4 2
7040 — BT KEFHT 16 9 1
7050 — R 7 H I ET 6
9999 — R&XEt 50 3 3 2 2 3 3 2 2
8011 SRAETFGHERLY 3

WO NNMNO—-=NWOWWO PR WO—-OUO—LO0O0W—-WANAEI—-=DNOPAANO—=-—- - DB

— NN = — O WN =N
00O OO WOIOo G — 00 Wwho

OPLAN—-=N—-OJAOPL—-NO—- 000 OCON—-"NNdIdOCOPRTAWPL—=0ONO O®

B = == B
O 00 O O ©

80

12

G NNDNMNN—= =N~ === 0WOP,PpPOOCO O PO =0T WO—=5=—-DNO©

NN = = = NN = =
N O PSP, OOSODOONWOO—=-J—==DNO0OC b



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

THET (KF)a—F {THRHET (KF) 4 70 71 72 73 74 75 76 77 78 79
9210 $RAT = H 21 13 6 8 5 16 7 7 17 8
9220 $EHT#E H 21 17 17 9 8 11 14 23 13 13
9230 $EHTE M 37 20 26 14 11 21 13 13 19 8
9240 $EHETIEE 11 6 8 2 8 6 9 7 8 8
9250 SEHETALFrith 11 18 15 8 6 9 7 13 15 11
9999 FEXET 280 267 224 163 147 205 176 178 195 154
9310 E[FHET:AR 11 5 11 3 5 6 7 7 7 11
9320 E[ZHETAL 11 10 12 10 5 8 6 5 10 12
9330 H[GET/INE 6 3 2 4 6 4 5 9 4 6
9340 R [ZHTRY 14 9 12 6 12 11 6 13 21 19
9999 H[G#HXET 42 27 37 23 28 29 24 34 42 48
9410 RETT & 17 16 15 11 6 18 7 12 13 17
9420 RHETHHE 14 6 13 9 8 20 11 6 8 19
9430 RETFER 10 7 8 9 0 10 6 13 9 7
9440 RETAEF 1 1 0 0 1 1 0 1 0 1
9450 RETHER 2 1 0 0 0 1 0 1 1 0
9460 RET{_HE 3 2 1 2 0 0 1 1 2 2
9470 RETER 1 0 0 0 1 0 0 0 0 1
9480 RETHEAR 4 4 6 4 1 0 1 0 3 2
9999 RixXEt 52 37 43 35 17 50 26 34 36 49

99999 H&EEt 2417 2187 2133 1369 1263 1668 1540 1567 1617 1386



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

FTIRET (KF)a—F {TEHET (KF) £ 80 8 82 83

(o]
N

10 HAT

20 & d-HT

30 @7

40 LRHET

50 KET—T B
60 AXET_TH
70 KET=TH
80 AT IR AT
90 FEHATIRAT
100 dt D HLET
110 #A;IHT

120 ¥A;TAHT
130 ¥ FHT
140 HEi[EET
150 & FFrHET
9999 K FRXET
510 RETIHT B
520 4EEEMT
530 /\T&HET
540 15 ZMET
550 $TithET
560 = ZEHT
570 EEHT
580 ¥TEAHET
590 ¥ ;EHT
600 ZEi7HT
610 FHT

620 $TERT—T H
630 FAEBTZTH

9999 /\ & X5t
1010 A HT
1020 £ A HT
1030 b [ HT
1040 74 FHT
1050 K HEHHET
1060 F_EHT
1070 1R HET
1080 &= HHET
1090 HEHRT
1100 L Bi&EHT
1110 fRIEET
1120 {BI1E JTHT
1130 +5&HT
1140 FxJRHET

1150 F[RET—T B
1160 #EETZ=TH

1170 ;B /KHET
1180 EE&ALHT
1190 ¥ F A HET

1200 XFHEI—TH
1210 XFHEIZTH

1220 $RHT
1230 #FHET
1240 ZEHT

-

N —
ON—-DBhOOONIUIOWNO O, WaOaOMNMWPAELEIOOUIOOWONNO—,TOUOONOW—-=A_NOOGWOOG—-=ANOOOWLNDOODO

— —
W NDMNOOSDODOOO = NONOONOWNWWOVWONOOOMNWOONONDPAP—=="-JOOONOSONOGTOONW—-_DNONMNWNOOORLAEANI—=

1

o

N

AP OO IPAPOMNNMNMNYNOONNOOGEWOOWONNW—_OPRMON =

- [ee]

—_

~

—_ —_
0 dJ4 O

—_ —_ - —_
A =2 OO0 WwWODN

N - OMNMOWJIONOOOW®

13

(&;]

N

— 00
G100 = J O ONMNOUOUDMNMNDNMNNWWAJOONNOONOMNOGD—=DMOOO WNDN

-y

N

N —
— O

— —
NWWNITOJWAdIDRROMNMMNMNWO BAAIDN OO

A OWON—-DOOUUININJOOUIOOWOUIOO O OWWNONPANOO-TNDNMNMNOMAEPMMOOMNMMNOPMOON—=A N0l —=SANOO b=

OC OO A —=-DNOWUNDDDMOIOO - = 0O PLAOMNWOPPONWDIAWOTOU

4

o

—_—

WPhAhOOWRA—-_0Nh—_00WPLhwo—"0CaNMNMNOCOTWLDN

— O

O WMNNOWSNNWN—=="DNPLOLOINJdJOWLOUDNWOPAPEANOOGOOPRAL, DD —="LDNONDP—-LWNWODLONUO 0O~ —-0WSLA,DM,+~LpOoO

—_—

OO P~ WNO -0 WPLONO—-—=-0O0CGCWOLONN-—-=OGCGTOWWONO-J

—_— ) —_— Y D
N =B~ wooawh~MNDNO

NWW—-=h =20 = 0WNN-—=-

—_

—- O
CO PO = == WNWONOUITOOON—-==NW—-=—=5>~J0»~Oo

S
o

NWWRAh-LOPL,—-UWOOO—~=~=DNN—-_OGON~M-—-O

WNW—-= W= W ONOO--DNOGTODRAAPPPPOOTONOON—-OONWPALLE—=-—"L L0 WWLWWOOUIONWONMNDMNMNDMOOGION ©



1250 fEEHET

1260 B R &E
1270 |EHT

1280 FRAEHT

1290 $RHET

1300 % ZEHT

1310 FKJGHET

9999 KM XET
1510 }E#0_ERT
1520 }EHI T ET
1530 HE#FTHT
1540 K4EFHT
9999 HEMIE X &t
2010 Z E AT
2020 % E7aHT
2030 NHET

2040 :ET—TH
2050 ;ET—TH
2060 ¥ fEET

2070 FxEBT—TH
2080 +=ET=TH
2090 THIKHET

2100 fdLHT

2110 KEMIETET—T B
2120 HENNFETZT B
9999 ZERXET
2510 FAMZHET

2520 sk FeHT

2530 =/MEHET
2540 FiSET

2550 ;#HET

2560 = EHT

2570 K SHT

9999 MER X ET
3010 X#FHT

3020 ;ELiTHT
3030 L EFHT

3040 & _LET
3050 THES AT
3060 THEQ THT
3070 HESEHRT
3080 A AT

3090 A A EMAT
3100 HhFEHAT
3110 EHeALHT
9999 /\ FERX &t
3510 £/F LHT
3520 27 T
3530 /R THT
3540 Z= B KHET
3550 AEFHT

3560 &= T ERAT
3570 & T FafT
3580 FLIETHT

80

WS O OO W

143
14
19

3, =N
oD O1 W ©

— N W —_ = N © —_ = = — w 0o N
B URAN_SCNUNNNOWNOOOU U UdWN~N—WWOou wo u

81
1
2
1
4
3
1
0

128
18
15
9

8

5

0
5
5
0
6
7
0
7
7

44
5
4
3

93

34

17
7
9
3

16
3

89

14

18

16
4

33

12

82
10
4

N W AN

w

171
16
13

o1 —
N = 0 »

IS
— A O1T 0001 © =0 W —= 0O

— N 00
U1 © 00 W o1 O

—_ - W — = N 0o N
OO 1T ON CINOWOWWwWOo

11

PO WO= =0 W

167

XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

AT (KF)a—F 1TERET (KF) &

84

D WWNWN

161
15
18
11

50

—_

w
A OO PA~AOODSAOO©OTI O—=

74

—_
—_ —_ W
IO WOOW-—=5m~=DMNMNDDNOOG

N
'\)—k

O 4 PO PO DBDNOMNOOON—-=DNWOWDNOP~MJOOLG

10

(o)

Y
- N

w
WWOOOPAP,OWOOHOOPRL,WOSOHOOWWOKLONOOONOW—=-WOo

w

—_ N —_ — N —_ —_ N~
O WWPpOOJONDIOOOSWOWOOU 1Ol

- o
D A T OONONDO

—_ - —_
— O © W

G ONOCTON

—_
D o—- - —_
N O o1 oo b W=

— 1 —_ N O N

—_

oo
WLWoOoOWhARNJOOOO -~ JONW—= =0 PPOOO - WOWOO = NMNMNOGCG

—_ —_ —_
0 —= W —= 00N

o

—

N

N
NWUNO—=- == DNOONMNUdOWd =" I9NOWMNWON ©

o
[

—_ N —_ -
~NOo WwWiN

—_
NOOWRARWWONOUOGWNWODODMMNWNNI—JOO W

~l

—_—

—_

u—y — [e'e)
O PP WOJOPMPPWO-—-=0ONMNO

N
W

N

N

N
WO NGO, PPOWODROCGOLOONWPAPOUIOGOOPRMAOOONOOPPW—=O—=ONIMMOG OO

—_ —_ Ol

~

—_



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK

(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

TIRET (KF)a—K {TEHT (KF) 4
3590 EMT
9999 EHKXET 7
4010 )1 RHET
4020 &S HT
4030 15T
4040 S HEAHT
4050 7K ST
4060 EZZ HHET
4070 JtJRHET
4080 =;T;HAMT 1
4090 FREkET
4100 g FFOAT
4110 JtFFET
9999 &M XET 5
4510 EREE—ZEHT 1
4520 EREE — FEET
4530 EREE =Z5HT
4540 AR EErYZHET
4550 EREE R ZHT
4560 EREE/NEHET
4570 EREEHZHET
4580 EREE/\ZFHT
4590 EREE N ZEHT
4600 AR+ ZHT
4610 EREE+—ZHHT
4620 AR+ —FHET
9999 AREFERXET 3
5010 BBF0 H EET
5020 RRF0BAELET
5030 FAFOME{—HET
9999 RRFIMXET 2
5510 b R HET
5520 = HhHET
5530 75 = HT
5540 wy ZERT
5550 EFEHT
9999 iR X &t 4
6010 FEIAT/MEE
6020 [z ET H
6030 FEIRT &I
6040 iz FHT
6050 JI| AETE
6060 JI| BT 7Y
9999 FEERXET 1
6510 HZEAFBHET
6520 H &= A KIEHET
6530 HZEAFTHET
6540 HZE AL THT
6550 B =AM 2 NET
6560 HZE AtEILHET
6570 H R AIEFHT
6580 HZAEHRT
6590 HZ= AHET
6600 B Z A HHT

oo
o

—_
WNOOUITONOWONPD, 00— 0 0O0©WOJOOUIO O JOOUOITON—-=-"NO—-=NDMNMNOOUONOOSOONNOOPN~,WO WO

81
0
91
7

—

— O

NAPRAANMNMNOORAPROOOOOOMNMNWOPRA—-=O0OOMNMNWOOOPRRUUGIONIAAI—L W= =DNowUMNMNOIONPMDOOMNMOMNMNNOWINOO W

—_— —

82
0
110
12

—_

— O

—_
N = DNNANPAEDRDOWOODUTTOONNYNWWOOWUINONONd—- OOWN—=—- === N0 000OONI”—=-W—=WOow-J

83
0
76
14
2
7

(&,

N

— —
NNANDPDOPRARPRPRONWOCOUOARANOONOOCG—O0O0O0O0ONDUONODWWO == N—-0WCWOWO—-=-N—-=-—-05hhoO

84
0
82
14
1

a2

NODNDEOAOWNOO—=NMNOOONDIDRAE—=LOCIOOITONOOOOWSNOOOUNOIOTW—=WNDN—-OMNOWONPINWNAYN—=W>H

—_

—_ (0] o
S OO O o

A =2 W WONOSOPANOOSO = COCITOOONNMNOPANOOUONNWMNOO 20— == W—-0O0PALNOWWOSOO WWO WWOWOh~—=

86

82

N Ol

—_ -
W= A AN WOIN - LVDCWLWON—- =PI DdDODPDONMNNUUTOU - 00—~ WUIONWONJOJOTOOGOO b = W=

NN
N WNOOPLPNOIUINJWP,POWOOLONM,ONOLWWO O

4

>

a—y

—~ NN WO -G WO - O L DPDOOWPARWALIWUDNO —=0OCNJWW-—=

88

ol
N —

P WO OO O©WWWOo

o
~

— = AR NMNOPL,—-0C0ONJWINOW-ADNWONI— =000 —=-— I —="AN—-0O0h—=DNP,MOG O

—_ = = WP, = DB =2 2 00O N IPOOINOONOCOOPMTOTW—- =00~ —="=DBNAEAN—-"PHAB—=2L—=0LCOCOITOITOOOONDIONNINDN



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

FTIRET (KF)a—F {TEHET (KF) £ 80 8 82

(o]
<o
N
(oc)
(o]

6610 HEA L FGHT
6620 HZEAF T
6630 HZE AT FHET
6640 HZEA EitHr
6650 B ZASHET
6660 HZ A RLHET
9999 HEAKKET
7010 Z R MO ET
7020 — R AHT
7030 = R FR#AMET
7040 — BT KEFHT
7050 — R 7 H I ET
9999 — R&XEt
8011 SRAETFGHERLY
8012 FRABTFHERA
8013 Y AHTFEER (&
8021 IRAHTIZEKLY
8022 R AHETIEKA
8023 IR AHTIEKIL
8031 RAHETH ALY
8032 IRAHTHAA
8033 FAETH AL
8041 R AETHELIFZL
8042 R AHTELIRA
8043 R AETHELIFIE
8044 YR AHETHELIFIZ
8045 R ABTELIF T
8050 IRAMTIR A
8060 IR AHTFT
8070 AHTER
8080 Ik AHT &k
8090 I AHTH;EE
8100 JRABIH/{%
8110 YRAHTJI| 5k
8120 R ARHETERER
8130 JRAHTH L

8140 IRABTEFRKT
8150 IR AHTEFRK L

9999 IRARK X ET
9010 F THTRKEH
9020 FTHTEER
9030 FTHT#HZEH
9040 F THTHERRH
9999 FT#XEt
9110 $EET T HIE
9120 $RATH L
9130 RETH B
9140 SFEET T4
9150 SEMET L 55
9160 HRHETIRHFT
9170 SZETAH
9180 $RHTEE

9190 SEET:Z O
9200 HTEFiH

WwooooO—-~NW-—-—PhMNOOD—- =0 - P -000—~~WNNLOPMPOPOW—-O0OOOPMOW

-
© w o

N —
O —

62
16

11
19
18
15
6
5

N
OO0 —=WwWw-—= 0 —

=y

O = AR NNMNOPRANOOWOO -0 WMNOOOLOOOAM~MANWODOUIW— 0 ©J

— O
~N W W

O i Y _~d W =
0 WO WOUINOO PMMOIN PI~O

o

—_

WO PAONN—- = OIINIPAPAN—=22 = W0COOP,LP,—~0O0Ta—-=PAPBN—-Dhopp—=0wWNDNMNMNOMNMONDN

-
~N W o

_ N = — —_ OO NN
Ol W OO = 4 ~J OO oo

10

N

N

—_—

- 00 —
ONJ WO OPRAINOAONWPAPRWNO—= - WOOUO = WNOWPROLOWMOAJOTOOTOGTWO—=NN-—=W

D LW —
a1 W N

10

W PHA = DNN-="DNNJdYOOTOWOOOMAMAN—-DOOOOPMMIUUNWNOUUPAPAOOOODOONNOW

-~
oD BN

—_ - - —_ —_ OO N N
ONOPMAOOTOOGODA~,WIO —

10

WA WW == INWOW—LOO == 00MNO WO~ WO PRAANW—==O0ONMNOG = —=0

—_ N = - —_ OO N = - - D
PWOOJdJO WWPRARWDMNMOMNMPMPOPWLDND

N ONW—-N—-"O0WWOONN—- OO0~ uWUN—-"Wdhhwouo —~CTWON = = =2 20O

—_ = —_
ONdIN W

49

—_

—_
~N O 0000 wWo AN OO

wW

—y

N

—_ »
DO T OW—-WPpO == DNPAEPAdWLOSOO—-=-DN—-O0IO = JOONWDNMNNNDNMNOUO PP ONO—=WNOW-J

49

A NP W=L = DNODODOONOO - W00 O0OON—-WMNWWAIPPOODWOLONONDNDMOOO®

3

— O
O ONPIDOO—=- OCOMNMNOWMNMNMNELAEN—-,T AN JOLONO—-W—LOPLPO NP OPLPTOTOWOUUIWWOON—=O©

—_ -
wW = W

W N



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

FTIET (KF)a—K {TIEHT (KF) £ 80 81 82 83 84 85 86 87 88

9210 $RAT = H 9 4 11 10 4 10 10 8 9
9220 $EHT#E H 16 23 22 19 16 13 17 17 8
9230 SEET B M 19 11 15 14 15 14 11 13 13
9240 $EHETIEE 9 6 6 10 6 10 9 7 4
9250 SEHETALFrith 15 12 13 17 16 11 9 10 9
9999 FEXET 168 161 179 168 155 159 139 136 124
9310 E[FHET:AR 13 6 10 7 8 8 4 8 7
9320 E[ZHETAL 10 3 8 9 9 12 6 4 3
9330 FE[AT/INE 3 9 3 3 6 5 6 3 4
9340 R [ZHTRY 17 11 16 6 9 9 10 7 3
9999 HFHXET 43 29 37 25 32 34 26 22 17
9410 RET T & 15 13 19 16 12 8 4 5 8
9420 RHETHHE 12 9 14 8 12 3 5 8 6
9430 RETFER 10 10 9 7 5 3 6 8 3
9440 RETAEF 2 0 0 1 2 1 0 4 0
9450 RHETHEIR 0 0 2 1 1 1 2 2 1
9460 RET{_HE 0 2 2 2 2 2 1 0 0
9470 RETER 0 0 0 0 0 0 0 0 1
9480 RETHEAR 2 3 3 0 0 1 0 1 1
9999 REXEt 41 37 49 35 34 19 18 28 20
99999 &t 1354 1292 1493 1365 1324 1143 1142 1066 886

- N
O A 2 OO ONMNOONWNO©WOowW—~ O oOoN ©

oo
W N
~N o O



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

TERET (KF)3—F fTIXHET (KF) 4 90 9 92 9
10 HAT
20 & d-HT
30 @7
40 LRHET
50 KET—T B
60 AXET_TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 dt D HLET
110 #A;IHT
120 ¥A;TAHT
130 ¥ FHT
140 HEi[EET
150 & FFrHET
9999 K FRXET 4
510 RETIHT B
520 4EEEMT
530 /\T&HET
540 15 2HT
550 $TithET
560 = ZEHT
570 EEHT
580 ¥TEAHET
590 ¥ ;EHT
600 ZEi7HT
610 FHT
620 $TERT—T H
630 FAEBTZTH
9999 /\ & X5t 2
1010 A HT
1020 £ A HT
1030 b [ HT
1040 74 FHT
1050 K HEHHET
1060 F_EHT
1070 1R HET
1080 &= HHET
1090 HEHRT
1100 L Bi&EHT
1110 fRIEET
1120 {BI1E JTHT
1130 +5&HT
1140 FxJRHET
1150 #J=ET—TH
1160 FEERT=TB
1170 ;5 7KHET
1180 BB&ALHET
1190 #&F AHT
1200 XFHEI—TH
1210 XFHEIZTH
1220 #rHET
1230 #XET
1240 ZEHT

©

w
O OO -0~ Phh - = —=00WLWO0OWLWPONO—-W—-WOOOCOO - === 00MNMNOOMNMO—O—-OMNMNOWODOO—-O—=0—= =0

— W = = NOMNMN—--LO === NODPDOANOTOTWN OOOCOOND I - = WO WWWOWWOOOOOHOWOOLWOUO P~ —-=DNNWOW-—-OU
NNWWOWRAR - =000, WOAdAAdADPDOOOPRLAPEAN—-OCOQOVCOOCOPRPOOT—=-N—-000PLh O -0 ON—="DNNW—=O0ONAAN==—=
OO = WNNMNMNMMNMNMNMNMNOOMNMNOOGOO = = PhhUUOIOW -0 - O0O0ONPIPPO—-ODOUGNMNDN—-=-DIBINO—-=NDIMDODN—=WDNWODNDN

O WOMNWMN—-TOO 0O - W= JODMNWMNMNDMNMNPWO—LO0O0OOMNOOO = = =0 WONPOON—-0O == WON—=-PIO—=W

O OOMNOWOOONO OO WWOUODWN—-0—--NOOMNOO—~000O0O 00 WuUuOOOONOOoOOoOOoODuU == =00u
— OO = DMNMNOOO—-0O0 - 0OMNMNMNO—--N—-0OO0O--NWOOOOOOOOOO—TOMNMNGVGOOOOMNO O~~~ O -0 —-00 o
oo oocooo—~o0o0oocoocoo A== wWo—-rOMNO-TODPMNODOO O~ 00000~ WOOOO 00O —0O0O0O0O =00V
OO0 OO0 O0DO0OO0O—~000DO0D0ODL0ODL0ODOLO 0O == 000PMPODOOMNOOOOOOMNOOO—~OOOWO O -0 —=0NMNO —= 0
OO0 0O 000~ 000000~ =0 0000000000000 O0DO0DO0DO0OO0ODO0OONOCODOONOD O == 000 —=—=0©



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

FIRET (KF)a—K {TERHET (KF) 4 90 9 92 9
1250 fEEHET
1260 B R &E
1270 |EHT
1280 FRAEHT
1290 $RHET
1300 % ZEHT
1310 FKJGHET
9999 KM XET 7
1510 AEHD_E BT
1520 }EHI T ET
1530 HE#FTHT
1540 K4EFHT
9999 HEMIE X &t 2
2010 Z E AT
2020 % E7aHT
2030 NHET
2040 :ET—TH
2050 ;ET—TH
2060 ¥ fEET
2070 FxEBT—TH
2080 +=ET=TH
2090 THIKHET 2
2100 fdLHT
2110 KEMIETET—T B
2120 HENNFETZT B
9999 ZERXET
2510 FAMZHET
2520 sk FeHT
2530 =/MEHET
2540 FiSET
2550 ;#HET
2560 = EHT
2570 K SHT
9999 MER X ET 3
3010 X#FHT
3020 ;ELiTHT
3030 L EFHT
3040 & _LET
3050 wyERdr AT 1
3060 THEQ THT
3070 HESEHRT
3080 A AT
3090 A A EMAT
3100 HhFEHAT
3110 EHeALHT
9999 /\ FERX &t 5
3510 £/F LHT
3520 E[RchHT
3530 2R THT 1
3540 Z= B KHET
3550 AEFHT
3560 &= T ERAT
3570 & T FafT
3580 FLIETHT

©

—_
NS == DOWOMNMNNMNMNOSOSD——ON—-WLWLWCOIW—=- =0 N—-"-JOOOWwWLWwWwoooMNOO - 00 —~0 O WwWw-—-NMNowo —-—-0—-—-00H»

o

— A
O OO 00 OW WO A = O01 = = DNMNONdONOOOUUITOO WNOO W—-= =0T N PO = WOOPNMNWODWOOOO WOUIOO WO - WN —= =
- N

N wCobhhbhbhphowouooOopbh~h—O0O,~,,owuNMWDW—,AMAPAPhpPoONMNJNOO—~DPDOOW—-=DNW—_L=0-N—-"=—=-0—-DhWNINJOOPMNMNMNMNNMNO ==

- N
N O PANNWO - PRO - JOWOW—-0ONMNMNOUUITWWWON—==DNONMNMDO

4

o
—_—

—
AP OWONWDOPRLPEANAIdI=TDNONPE=LDBDNDNANDPDPON—-"TONNAYNPOONIN-"-DNO—-=-—- 000U PMPPNWOWO—=-—-000O0OOW

WW—-=NOOMNMNOIUIO - 2 0CINONI~NOO

—_ = = =1 =2 W= = NN OOONOUUGOO AN OO0 == NWOWPAOMNMNOOWON—-OO0OODOOQOVWONNOGIOWO—-=NOOOOOuU

ON—- =0 === NOO—-O0OMNMNMNMNOLOGO—~~PdPPOOO—~O—OMN~MN—OCC~ 01T~ NOO—~~OO—~UOO -~ P00 0—~00OO>
O = O NDN=-DN—-"-WMNWO—-=-DNWAO-="DNMNMNNMNPMPO—-0O 0N —-00W—-0 000 O0COCW—-0O0O == DMNOOOO =00V
O~ 0O WO -~ 00 -~ =000 ONWONN—-O0O0OO - O0OONMNMNWUIO—-O0OMNOOOO -0~ 0UO0OO0OWNUUOOOOO —~ 0O o
— 0O 00O OMNONOOOO 0O —-0O0MNOWMNMNOO 00O 000 ~~T00000C0C 00O —~~0 00U O0OO0ODOOOOOO©



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK

(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

FIRET (KF)a—K {TERHET (KF) 4 90
3590 ;EHT 1
9999 S HKXEt 55
4010 )1 RHET
4020 &S HT
4030 15T
4040 S HEAHT
4050 7K ST
4060 EZZ HHET
4070 JtJRHET
4080 =;T;HAMT
4090 FREkET
4100 g FFOAT
4110 JtFFET
9999 &M XET 2
4510 AREE—ZEHT
4520 EREE — FEET
4530 EREE =Z5HT
4540 AR EErYZHET
4550 EREE R ZHT
4560 EREE/NEHET
4570 EREEHZHET
4580 EREE/\ZFHT
4590 EREE N ZEHT
4600 AR+ ZHT
4610 EREE+—ZHHT
4620 AR+ —FHET
9999 AREFERXET 2
5010 BBF0 H EET
5020 RRF0BAELET
5030 FAFOME{—HET
9999 RRFIMXET
5510 b R HET
5520 = HhHET
5530 75 = HT
5540 wy ZERT
5550 EFEHT
9999 iR X &t 2
6010 FEIAT/MEE
6020 [ZHT
6030 FEIRT &I
6040 iz FHT
6050 JI| AETE
6060 JI| BT 7Y
9999 FEERXET
6510 HZEAFBHET
6520 H &= A KIEHET
6530 HZEAFTHET
6540 HZE AL THT
6550 B =AM 2 NET
6560 HZ&=ALEILHT
6570 H R AIEFHT
6580 HZAEHRT
6590 HZ= AHET
6600 B Z A HHT

w

OMNOOITOI = = N—-WOU -0 = =NOOOUIONNOUIOOGNNDN—-O—-=-N—-"-ADN—-WUPROODWPRW—_LWOOIN—=—

91
1
31

($]

— O W - ONDIMOWOOWW—-===ONMNAENPAPONOOPLPLPW—0O—=- =0 - DPANO—-=" =W WLWODUNMNWWOMNON —= —

92

N
SN W

O OO WW—-=0CIOOONNMNWW—-N—-"0O0O0—--DNOOOONWMNMNO - I 00O == DNWONOWMNNDMMODWOIAE—=-N-—=

93
0
22

N

O WNMNW—-=NOW—- O == WW—-0ON—-=-=DTBNPPWOMN—-OPLANOODODWOOOMNW—-WWOW—=—=0WOWWwWwN=—=

94

N
w o =

NODMNW—-O—-0WOoOO === NOWWOWON—-OUOI—-WMNO—-=- = 00000 —~~0O0O0CODWOHOLN—-=-NMNO—=—=NMBMNNMNDO

—_ ©
N = = O

O OOOMNOON - O0OWO - -0 -0, - =0MNMNO—-0O0—-00UIO00O0O0 - == 0000NW—-0O0O—-0O0—-=NNOW—=O

OO0 - - 000~ 00OMNOO 0O —~0O00O0O -~ MNN—-—- 00—~ 000000 —~~000O0O—~0ONMN—~~OMNOCO =00 —~00WNOOS

O OO0 O0OOMNMNOMNMNOULLOO - =DN—-DMNO-—O—-O0O0MNMNMNO - - W 00000O0O 0 —~00OOUuUO—~000C0O0O—=-—=-00MNMOWO

OO OO 00—~ 00O0OMNOOMNOOOAL, - - 0~ 00NO0OO0ODO0ODO0ODO0OO0O - 000000 —~0O0OONMNNMNMNOOO =01 O

O OO O0OO0OO0OO0ODO0ODO0ODO0ODO0DO0DO0ODO0DODOODUON—-NMNOOODOON—- 000000 MNOOCW—-0O0O0OOOOOOOO 0 WOOoV©



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK

(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

FIRET (KF)a—K {TERHET (KF) 4 90
6610 HEA L FGHT
6620 HZEAF T
6630 HZE AT FHET
6640 HZEA EitHr
6650 B ZASHET
6660 HZ A RLHET

o

9999 HEAKRKET 3
7010 Z— RO /T
7020 — B AHT

7030 = R FR#AMET
7040 — BT KEFHT
7050 — R 7 H I ET
9999 — R&XEt
8011 SRAETFGHERLY
8012 FRABTFHERA
8013 Y AHTFEER (&
8021 IRAHTIZEKLY
8022 R AHETIEKA
8023 IR AHTIEKIL
8031 RAHETH ALY
8032 IRAHTHAA
8033 FAETH AL
8041 R AETHELIFZL
8042 R AHTELIRA
8043 R AETHELIFIE
8044 YR AHETHELIFIZ
8045 R ABTELIF T
8050 IRAMTIR A
8060 IR AHTFT
8070 AHTER
8080 Ik AHT &k
8090 I AHTH;EE
8100 JRABIH/{%
8110 YRAHTJI| 5k
8120 R ARHETERER
8130 JRAHTH L
8140 IRABTEFRKT
8150 AR EHFXRL
9999 IRARK X ET
9010 F THTRKEH
9020 FTHTEER
9030 FTHT#HZEH
9040 F THTHERRH
9999 FT#XEt
9110 $EET T HIE
9120 $RATH L
9130 RETH B
9140 SFEET T4
9150 SEMET L 55
9160 HRHETIRHFT
9170 SZETAH
9180 $RHTEE

9190 SEET:Z O
9200 HTEFiH

N

N
—~ N OOOPADWONOIUOMNMNWNOAONOOON—-=-N—=-—=WUPLArPLPOON—- 0 - NOOCO == WNWNOUUDMNONOLO,AP,WWO — 00—

W —

—_

©

N

=y

wW
O = 99N - DNO—=- =0 =P~ OOCOCON—-= = 00N—=-DNDNW-DNNMNMNONOUUTWO = —=WwWw—

—_
oo O O

N
o1 N

—
0O~ OJO—= WO

92

—_
—_

—_

w
O WO WO - = OONPAEANN—-—-00 = —-0WOOONW—WWPDON,LPO—-ONMNOWDO

—_ o =
- OO PPpPOO—~TO—~0O0O

©

N

—y

w

M—l
N D OCOTOW—-= =W DA, JOODMNMNOPIL-"LDNN—-WLWCO—-L = O0WUWNI—-" == 00— = DNOOMNO - =DNN~W—-ADNAO—=—OMNMMNMNODIMW

-y

©

NOOOSO—=DNMNMNMNOO = OG0 O WAL —-=DNMNMNMNMNMNOO - - 0O WMNOOO 0000 WO OO0 —~0000 MO - = 1I—-00N—=—=DNI©

OMNOSODW-—-NO—-=DNOMNMNMNOGWLWOON - WOMNN—- O~ LW OoO o0 —~~0 00—~ 00000000 W00~ 0 —-00O0W=—=0u

NN ONW—L~rO - O P~_NMN—O—~rr—~0O00CO0OC OO0~~~ 01—~ WO~ —-0MNOO—~O0OO0O 00 —~O0OMNOOW—-PhP -~ 00000 0OCOCO

OO WWOO -0~ 0NWoO OO - =0 - 00000MNO0OO0ODO0DO0DO0ODO0DO0DO0DO0ODO0ODO0ODO0ODO0OON—~ WO —-=NUOUGWOO 00OV

OO0 —~-~N—- 00—~ 0~ 00—~ PP 00—~ 0000000000000 O0OOO0ODO0ODO0OO0O—~~O0OP 0~ = WOO 000 0o

OO OO0 O0CDO0DO0DO0 -0 = —=W—--WOoODO0ODO0DODODODODODODODODOON—-~000000D0D0D0D0D0D0D0O0OO0ONODODODO - - - 00000 —=0©



9210 $RHETE H
9220 #EHT i H
9230 $EHTE M
9240 $RETIEE
9250 SEHETALFrith
9999 FEXET
9310 E[FHET:AR
9320 H[ZHETL
9330 HIZHAT/IVA
9340 HIGHTE
9999 H[G#HXET
9410 RET T &
9420 RHETHHE
9430 RETFER
9440 RETAEF
9450 RETHER
9460 RET{—_HE
9470 RETER
9480 RETHEAR
9999 RixXEt
99999 H&Et

90

N OOO—=JOGNMNOIOONINOO WO

—_
o) —

681

9

OCOOO = "NINNO-=DNNMNOOMNMNMOOLOAIAN =

I

14
608

92

—_ = =2 O PRLNAO= BN DOON—-="BA_Ad9D

o

14
506

93
1
11
3

O WOOoOWhh—-— OO0l = N—=0O0 O

o

11
422

©

N

w
N

XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

AT (KF)a—F 1TERET (KF) &

O NNOOODO—-=NNOO—=-—=-WWNDMNDNWAINN D

©

w

N
w

W OoONO - OO O b= NN OOMNMOGTWDNOOG

©

N

u—y
~

AP WOOCOOCO—~~NOPMMWOO 0O —~=-N—-—-O

©

—_

—_
N

WNOO -~ 000 —-~0P~PhWO -0 —-00O0O—=NMNOJ

©

—_

o

NP O OO OO—~—0O0O0WEANMNOOMNMDMNMNO—=—-MOO®

©

($)]

0O - 00000 -~ 00WNO—-0W—-00 —0 ©



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

THRET(KF)a—F {TERET (K=F)4% 1000k AOF

10 HAT 0 289
20 & d-HT 0 314
30 @7 1 431
40 SRET 0 218
50 KET—T B 0 501
60 KET=TH 1 410
70 KET=TH 0 570
80 ¥ATIHET 0 65
90 FEHNT AT 1 366
100 dt D HLET 0 235
110 T HT 1 2509
120 #;TAHT 1 464
130 #&FHT 0 748
140 EAERT 0 31
150 & FFrHET 0 693
9999 K FRXET 5 7844
510 RETIHT B 0 757
520 HEEEHT 0 296
530 /\T&HET 0 446
540 15 =EHT 0 803
550 $TithET 1 706
560 =ZEMT 0 165
570 EEHT 0 125
580 ¥TEAHET 0 257
590 ¥ ;EHT 0 120
600 ZERET 0 1183
610 FHT 0 366
620 ¥EET—TH 0 2
630 FAEBTZTH 0 2
9999 /\ & X5t 1 5228
1010 E HHT 0 402
1020 Lt FHET 0 640
1030 b [ HT 0 664
1040 75 FHT 0 1021
1050 £ HHET 1 1281
1060 F_EHT 0 1104
1070 Fy[RHET 0 1242
1080 &= HHET 0 860
1090 BH&EHT 2 1286
1100 £ BHEHT 0 1138
1110 fRIEET 0 354
1120 #Z1E JCHT 1 145
1130 +5:HT 0 55
1140 FkJRHET 0 26
1150 F/RET—T B 1 381
1160 F/RET—T B 0 442
1170 ;5 7KHET 0 309
1180 BB&ALHET 3 470
1190 #&FAHT 0 349
1200 XFHEI—TH 0 253
1210 XFHEIZTH 0 314
1220 #HrHT 0 277
1230 #EHET 0 306
1240 ZEHT 0 245



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

THRET(KF)a—F {TERET (K=F)4% 1000k AOF

1250 fEEHET 0 269
1260 B @ 0 81
1270 EEHT 1 235
1280 FRAEHT 0 291
1290 $RHET 0 324
1300 & ZEMT 0 255
1310 RILGHT 1 150
9999 KM XET 10 15169
1510 AEHD_E BT 0 1510
1520 HEHTHET 0 1402
1530 HE#FTHT 0 660
1540 K{g3HT 0 1096
9999 HEMIE X &t 0 4668
2010 £ &5 0 386
2020 %= EFaHET 0 580
2030 SE0HT 0 39
2040 :ET—TH 1 407
2050 ;BT =T H 0 395
2060 #5FET 0 93
2070 FxEBT—TH 0 502
2080 +RETZTH 0 383
2090 THIKHET 0 3458
2100 hiLHT 0 527
2110 }EWETET—T B 0 496
2120 HEWIEET—TH 0 566
9999 ZERXET 1 7832
2510 FAMZHET 2 4358
2520 Sk hEMT 2 2860
2530 =/MEHET 0 750
2540 FHi5HT 0 895
2550 ;HHET 0 492
2560 &= EHT 1 1864
2570 K EHT 0 179
9999 MER X ET 5 11398
3010 X#FHT 0 1999
3020 ;ELiTHT 1 1946
3030 _EEFHT 1 1637
3040 & _LET 0 280
3050 R AT 2 4460
3060 HESTHT 1 939
3070 HBREHT 0 961
3080 HHRHT 1 879
3090 H A EHT 0 874
3100 HHFHHET 1 970
3110 EHeALHT 1 886
9999 /\ FERX &t 8 15831
3510 £/F LHT 0 364
3520 2R HHT 1 727
3530 2R THT 0 2020
3540 Z= B KHET 1 788
3550 AEFHT 1 1615
3560 &= T ERAT 0 573
3570 & T AT 0 1556
3580 I |LIFrAET 0 1082



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

THRET(KF)a—F {TERET (K=F)4% 1000k AOF

3590 ;EMT 0 28
9999 S HKXEt 3 8753
4010 21| RET 0 650
4020 fESHT 1 180
4030 5HT 1 482
4040 = HEAHT 1 455
4050 7K EHT 1 915
4060 E5Z4 HAT 0 755
4070 JtJRHET 1 356
4080 =;T;HAMT 0 458
4090 55 jERHT 0 667
4100 g FFOAT 0 291
4110 JtFFET 0 338
9999 &M XET 5 5547
4510 EREE—ZEHT 1 1464
4520 EREE —ZEHT 1 368
4530 EREE =Z5HT 0 376
4540 EREEIUZEHET 0 292
4550 EREE R ZHT 0 250
4560 EREE/NEHET 0 180
4570 EREEHZHET 0 269
4580 EREE/\ZFHT 0 189
4590 EREE N ZEHT 0 266
4600 AR+ ZHT 0 330
4610 EREE+—ZHHT 0 378
4620 AR+ —FFHT 0 590
9999 AREFERXET 2 4952
5010 BBF0 H EET 0 436
5020 RRF0BAELET 0 372
5030 RRF0[RI{—HT 0 439
9999 RRFIMXET 0 1247
5510 b R HET 1 439
5520 = HhHET 0 1251
5530 75 = HT 1 976
5540 wy ZERT 0 536
5550 AT 0 135
9999 iR X &t 2 3337
6010 FEIHET/MER 0 208
6020 [EHET o 0 240
6030 [EET & JII 0 191
6040 Bz FFHT 1 432
6050 JI|EHATE 0 308
6060 JI|EHATF 2 250
9999 FEERXET 3 1629
6510 HZEAFBHET 0 48
6520 H &= A KIEHET 0 397
6530 HZEAFTHET 1 218
6540 HZEAILUTHT 0 353
6550 B =AM 2 NET 0 171
6560 HZEAIEILET 0 258
6570 H R AIEFHT 0 266
6580 HZAEHRT 0 167
6590 HZEARKMET 2 93
6600 B Z A HHT 0 152



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

THRET(KF)a—F {TERET (K=F)4% 1000k AOF

6610 HEA L FGHT 0 97
6620 HZEAF T 0 95
6630 HZE AT FHET 0 180
6640 HE A EitslT 0 75
6650 HZASET 0 5
6660 HZ A RLHET 0 50
9999 HEAKKET 3 2625
7010 Z B MO ET 1 334
7020 — R AHT 0 499
7030 — R FR#AHET 0 202
7040 — BT KEFHT 1 405
7050 — R 7 H I ET 0 224
9999 — R&XEt 2 1664
8011 SRAETFGHERLY 0 124
8012 IR AHTFHERA 0 270
8013 Y AHTFEER (& 0 157
8021 IRAHTIZEKLY 0 165
8022 IR AHTIE/KA 0 8
8023 IR AHTIEKIL 0 14
8031 JRAHTH ALY 1 333
8032 JAHTHAA 0 24
8033 IRAHTH AL 0 38
8041 R AETHELIFZL 0 114
8042 R AHETELIFA 0 60
8043 IR AHTELIR L 0 35
8044 R AHTELIRIZ 0 53
8045 IR AHTELIR (X 0 89
8050 IR AHT A 1 310
8060 IR AHTFT 0 257
8070 AHTER 0 252
8080 Ik AHT &k 0 107
8090 I AHTH;EE 0 95
8100 JRABIH/{% 0 34
8110 IRAHTJII 5= 0 94
8120 R ARHETERER 1 169
8130 JRAHETH Lt 0 173
8140 IRABTEFRKT 0 256
8150 IR AHTEFRK L 0 173
9999 IRARK X ET 3 3404
9010 F THTRKEH 1 1237
9020 FTHTEER 1 791
9030 F THTHEH 2 2452
9040 F THTHERRH 2 2813
9999 FT#XEt 6 7293
9110 SERT T H L 0 1125
9120 $RATH L 0 512
9130 RETH B 0 290
9140 SFEET T4 1 862
9150 $BHT L 45 2 1019
9160 SRHETER4T 3 1546
9170 $ERTAH 1 1856
9180 FRMETER 1 1178
9190 #EHRTZ O 0 452
9200 $EHTEFIH 0 449



XH24.7 9EF REXBIRED—HREICIYNEANZEH-AO - HFEK
(R1.11.30IR £ JATERET & (K=F) Bl il A Ot 53 (55

THRET(KF)a—F {TERET (K=F)4% 1000k AOF

9210 SEET=EH 0 778
9220 SEETHH 3 1214
9230 $EHTE M 1 1401
9240 $EHETIEE 0 554
9250 SEHETALFrith 0 1227
9999 FEXET 12 14463
9310 E[FHET:AR 0 413
9320 E[ZHTIL 0 494
9330 FE[AT/INE 0 316
9340 R [ZHTRY 3 826
9999 H[G#HXET 3 2049
9410 RETT & 0 788
9420 RHETHHE 0 454
9430 RETFER 0 291
9440 RETAEF 0 25
9450 RHETHEIR 0 A1
9460 RET{_HE 0 65
9470 RETER 0 14
9480 RHETHER 0 121
9999 RixXEt 0 1799
99999 &t 74 126732



